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Question Number : 1 Question Id : 69817710811 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following relating earth’s atmosphere

2 - v B T L
2 ar@Eratiernd Hosnobot)d Sob N =2dndSol

A)  Troposphere e Home of ozone layer
|_.‘§3:’E_f’"’?:uh‘fci535 5,858 Erd% Jecho

B) Mesosphere 11. Densest layer of atmosphere
v ena] TEeStmo G0, e SP3

C) Stratosphere 1.  Hottest layer of atmosphere
apes® &yohB TEHSmo GnE, o8 I8 &8

D)  Thermosphere 1v. Coldest layer of atmosphere
d#éﬁjﬂ:tﬁg TEdtnosd of d8e Y

C}JGUSE the correct answer:
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Options :

A-1,B-m,C—iv,D—1
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A-w,B-1,C—n,D-1
2. %

A-1n1B-w,C—-1D-11
3.

A—i,B-1,C-1,D—-1v



Question Number : 2 Question Id : 69817710812 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ‘Motion’ when the Preasident of India addresses the houses of the Parliament

during the first session after every General Election 15 called
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Motion of Privilege
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Motion of Thanks

Motion of Confidence
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Calling-attention Motion
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Question Number : 3 Question Id : 69817710813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The state that has recorded the highest voter turnout in General Elections, 2024
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Options :
Andhra Pradesh
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Tripura

Madhya Pradesh
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Question Number : 4 Question Id : 69817710814 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statements from the following relating to circulatory system
in humans
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A)  Aorta 1s the major blood vessel that carries blood away from the heart
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B)  Blood pressure is measured in an artery of the arm

C} Alternate expansion and contraction of veins due to blood pressure is
known as pulse
BE5Ren Omorm b HaErEimad DX0e Hoan :”*o%gﬁ"‘m | D6 W0
Choose the correct answer:
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Options:
A & B only
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A & Conly
A& Cirgd

B & C Dlll:v

B & C sirgsad
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Question Number : 5 Question Id : 69817710815 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Saikhom Mirabhai Chanu, who won a silver medal in Weightlifting in 49 kg
category 2020 Tokyo Olympics, belongs to this state
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Options :

Manipur

Sikkim
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Meghalaya

Nagaland
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Question Number : 6 Question Id : 69817710816 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘Pehlwani’ iz a form of

Options
Boxing
erEyoh
1. %
Wrestling
O2oh
2. ¥
Karate
3 % STRE
Taelkwondo
4, % — °

Question Number : 7 Question Id : 69817710817 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Most Raid Points in Pro Kabadi League 2023-24 were scored by
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Options :
Arjun Deshwal
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Pawan Sehrawat
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Ashu Malik

a0y =5 "f'w:"']*-':-
4 o Slol) olFelS

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 8 Question Id : 69817710818 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per the 2021 Human Development Index Report. India 1s in the category of
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Options :

Very High Human Development
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Medium Human Development
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Low Human Development
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Question Number : 9 Question Id : 69817710819 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which among the following was the first site to have been listed in the UNESCO

world heritage sites in India?

I,
E‘1

2R
£l
=
£

808 & UNESCO | B0l G Howce erdlerd” grdd BIo ok 38

= )
w0Zo 287



Options :

Sun temple, Konark
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Manas wildlife sanctuary. Assam
SPHR Hdgerene o dirdeso. @m0
2. %
Ajanta caves, Maharashtra
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3. "
Ramappa Temple, Warangal
orsa)y Baredio, Hdolid
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Question Number : 10 Question Id : 69817710820 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the INCORRECT pair
205°R 283 DBotiol

Options :

Chandrayaan 1 - 2007

So8aTS 1 _ 2007
1.¢

Chandrayaan 2 - 2019

Solidirs 2 - 2019
2. ® i

Mangalyaan - 2013

FooNgairR = 2013
3. %



Aditya-L1 — 2023
&L - 2023

5

a

L

(]

Question Number : 11 Question Id : 69817710821 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This state has become the first state to launch state run OTT platform in March,

2024
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Options :
Karnataka
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Question Number : 12 Question Id : 69817710822 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The 1300 to 1500 year old temples discovered recently in Mudimanikyam

village, Telangana were built by
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Kakatiyas

Badami Chalukyas
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Rashtrakutas
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Pallavas

-L\—\.\. -
F—" VL]

4. %

Question Number : 13 Question Id : 69817710823 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is a famous exponent of the musical instrument ‘Veena’
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Options:
Bismillah Khan
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M S Gopalakrishnan
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Question Number : 14 Question Id : 69817710824 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In September, 2023 the Indian government introduced the Constitution
Amendment Bill, 2023, which proposes to reserve 33% of seats for women 1n the
dRoa, 20236° S Hehdo Trersol S8 ey, 20235 PATHEH, 86 Mirged

2]
286 33% by Bub; TaPed HBarBN0B.

Options :

Lok Sabha and State LEgislative Aszemblies

Rural Local Bodies
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High Courts and Supreme Court of India
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Question Number : 15 Question Id : 69817710825 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Directorate of Film Festivals 1z located at
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Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to
all candidates.

Options :
1.



Mumbai
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Question Number : 16 Question Id : 69817710826 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The syatem of medicine that believes that diseaszes are caused due to 1imbalance
in the ratio of ‘Panchabhutas’ is
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Options :

Avurveda
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Homeopathy
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Question Number : 17 Question Id : 69817710827 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Jeevan Paryanth Kartavva® is the motto of this military unit of India
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Options:

Central Reserve Police Force
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Indian Coast Guard
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Border Security Force
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Central Industrial Security Force
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Question Number : 18 Question Id : 69817710828 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Poshan Pakwada’ that aims to raise awareness about the importance of
nutrition and promote healthy eating habits is celebrated by Government of

India every vear in the month of
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March
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Question Number : 19 Question Id : 69817710829 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The Constitution of India has mentioned that English would continue to be used
for official purposes for these many years from the commencement of the
constitution
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Question Number : 20 Question Id : 69817710830 Question Type
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct pair of household circuits
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Options :
Neutral wires
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Sub-Section Number : 1
Sub-Section Id : 698177357
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 69817710831 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Indian education system has the heritage of being
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B) achievable
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C) complementary to life
aaer)b HBrds 8T

Options :
A & B only
A & Birgd
=

C &D only

A &B only
A & Birgd

A B&C
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Question Number : 22 Question Id : 69817710832 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Committee constituted to review the National Education Policy, 1986
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Options :

Yashpal Committee

Eshwaribhai Patel Committee
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Knowledge Commission
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Question Number : 23 Question Id : 69817710833 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Cosmic education refers to the philosophy coined by
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Options :
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Question Number : 24 Question Id : 69817710834 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Arrange the ascending order of the following statements with reference to

process of education as investment according Education as a Human Capital:
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A)  Enhanced Skills
AN Jayesen
B)  Investment on Education
0552 Dol
C)  Higher Earnings
©6HE asediren
D)  Higher Productivity
2HE GE 05
Choose the correct order:

[Py T oy
a0 |I5'E-J:r1'u;

JotnFob:

Options :

ABCD
1. %

B.ADC
2.

B ACD

A.C.D.B



Question Number : 25 Question Id : 69817710835 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
As per the constitutional provision the percentage of seats reserved for women
n Panchavats
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Question Number : 26 Question Id : 69817710836 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In the context of social change. one of the following is considered as a material
aspect of culture
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Religion
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Ideology

Question Number : 27 Question Id : 69817710837 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The child understands that even if the physical appearance of objects change,
their properties such as size and volume do not change. According to Piaget this

18 known as
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Options :

Egocentric thought
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Question Number : 28 Question Id : 69817710838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A teacher would like to know about a student of Class V without knowledge of
the student and also without any manipulation in environment or in student.

Here the suitable method of study 12

Options :
Introspection

1 % ©oBdEes

Experimental
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Observation
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Case study
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Question Number : 29 Question Id : 69817710839 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The rate of mncrease 1n head size of children after birth when compared to the

prenatal stage
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Question Number : 30 Question Id : 69817710840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the statement that indicates inter individual differences
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Options :
Raghav of Class 9 1s excellent in word games but he cannot express his
views clearly

0% S5188 TohHB TS $6 Neved® eth: 0T $08D 5°R) 88 efpRdiremd

.~
T
o2edON® el il
1 al gy o

i
[}
-t
o
[
¥ ]
[}
=
o ="
&
=
ol
el
—
g
=
=
I,
=
&)
=
w
=
o
="
=
=
[
=t
i]e]
o
o
(=9
(=]
=
4
=
=
=
E
=
o ="
[
o
=
oo
7

SO SV P NTA Wy G- % G
& PP aRteNod 520 Jrben BodT Tradbeith

2. %
Laxman’s marks in mathematics are less when compared to his
classmates
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Amitha’s performance 1s good 1n languages but she 1s not that good 1n
other subjects
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Question Number : 31 Question Id : 69817710841 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Raghu praised his niece for helping the low performing students in school after
the school hours. Noticing this, Raghu's daughter also started to help the low
performing students in her class. According to Bandura, the behavipur of
Raghu's daughter 1s an example of this learning theory
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Social Learning
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Operant Learning
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Question Number : 32 Question Id : 69817710842 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A teacher 1s explaining a concept n a class. One of the students has not paid
attention to it. Hence, could not learn the concept. The factor for not learning

the concept here 1s
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Question Number : 33 Question Id : 69817710843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The chairperson of National Steering Committee (NSC) that drafted the

National Curriculum Framework for School Education (NCFSE) 2023 1s
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Question Number : 34 Question Id : 69817710844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The aim of Integrated Teacher Education Programme (ITEP) is to prepare
teachers for
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A)  Foundational stage

B)  Preparatory stage
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C)  Middle stage
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D)  Secondary stage
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Question Number : 35 Question Id : 69817710845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following phases of teacher training relate to in-service phage?
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A)  Preparatory

C)  Continuous Professional Development
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C]?LGOSE‘ the correct answer.
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Question Number : 36 Question Id : 69817710846 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Mission LiFE a global mass movement to nudge individual and community
action to protect and preserve the environment 1s led by
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Question Number : 37 Question Id : 69817710847 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
What important information can one find on the Nutritional Information label
on the cover of packaged food 1tems?
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The price of the food 1tem
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The food's expiration date
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Question Number : 38 Question Id : 69817710848 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following one 1s a technology platform which provides Continuous
Professional Development for teachers through MOOCs.
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Question Number : 39 Question Id : 69817710849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

All Government mstitutions of higher education and other higher education
Institutions receiving aid from the Government shall reserve not less than this
per cent seats for persons with benchmark disabilities under the Rights of

Persons with Disabilities Act (RPwD) 2016
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Question Number : 40 Question Id : 69817710850 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following is NOT a moral value?
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Telugu Content

SectionId: 698177258
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 18
Number of Questions to be attempted : 18

Section Marks : 9
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177358
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 69817710851 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 42 Question Id : 69817710852 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 43 Question Id : 69817710853 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 44 Question Id : 69817710854 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 45 Question Id : 69817710855 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 46 Question Id : 69817710856 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 47 Question Id : 69817710857 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Question Number : 48 Question Id : 69817710858 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 49 Question Id : 69817710859 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 50 Question Id : 69817710860 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 51 Question Id : 69817710861 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 52 Question Id : 69817710862 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 53 Question Id : 69817710863 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 54 Question Id : 69817710864 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 55 Question Id : 69817710865 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 56 Question Id : 69817710866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Question Number : 57 Question Id : 69817710867 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 58 Question Id : 69817710868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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English Content
SectionId: 698177259
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 9
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177359
Question Shuffling Allowed : Yes

Question Id : 69817710869 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (59 to 60)

Read the following passage and answer the questions from 39 - 60:

Erosion of America's farmland by wind and water has been a problem since settlers first
put the prairies under the plough in the nineteenth century. In the U.S.A.. more than 282 million
acres of farmland was damaged by erosion by the 1930s. Even after 40 years of conservation
efforts. soil erosion has accelerated due to new demands placed on the land by heavy crop
production. In the years ahead. soil erosion and the pollution problems are likely to replace

petroleum scareity as the nation's most critical natural resource problem.

Sub questions

Question Number : 59 Question Id : 69817710870 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to the author. soil erosion has accelerated due to new demands for

Options :

decreasing pollution.
1. %

wind and water.

placing on the land by heavy crop production.
3.

petroleum scareity.
4, w

Question Number : 60 Question Id : 69817710871 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Settlers first put the prairies under the plough in the nineteenth century. The word

“Prairies” denotes the name of

Options :

tfresh water body
1. %

> % torest

grassland
3.¢

desert

Sub-Section Number : 2
Sub-Section Id : 698177360
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 69817710872 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct option to complete the following sentence.
The resolute mother has seldom feared the inclement weather to save her

children.

Options :

had she?

5 % hasn’t she?

5 ¥
3 ¢ has she?

hadn’t them?

Question Number : 62 Question Id : 69817710873 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the part with an error in the given sentence.

The chairman along with the CEQO donot like the proposal.

A B C D

Options :

Question Number : 63 Question Id : 69817710874 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct option that completes the given sentence.

In this busy world. many people are in the of their own mental

prisomn.

Options :
caption
1. % i

captivization

captivised

captivity

Question Number : 64 Question Id : 69817710875 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the option that can complete the following paragraph.
Yesterday while I the road. I an unfortunate accident wherein an
mnnocent pedestrian by a speeding car.

Options :

crossed; was "-.-f.‘i‘illg'. Was 1nml over

was Cl’OSiillg'. SaW. Was 1rn over

Was Crossing: saw: is run over
3. %

4 % was Cl’Gi‘Bill_E'. SaW. Was ran over

Question Number : 65 Question Id : 69817710876 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The hero told the heroine, “My love is like a red rose.”

Identify the correct figure of speech used here.



Options :

Oxymoron

> % Hyperbole

Metaphor
3. %

4 Simile

Question Number : 66 Question Id : 69817710877 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the appropriate word to complete the sentence.
There 1s eucalyptus tree in the backyard of old man. Every day

smell of the tree spreads across the village.

Options :

~a: a: the
1. %

5w Anan: the

3 ¢ a: an: the

the: an: a

Question Number : 67 Question Id : 69817710878 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct option to complete the given sentence.

Had the loco pilot beforehand. the accident averted.

Options :

been alerted: would had been



) @ been alerted: would have been

been alerted: would has been

being alerted: would have been
4o

Question Number : 68 Question Id : 69817710879 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The poetry exhibits the poet’s inquisitive mind.

Choose the appropriate synonym for the word “inquisitive” in the sentence,

Options :

1 % selfless

curious

great

famous

Question Number : 69 Question Id : 69817710880 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ship got drowned in deep waters of the sea.

Choose the appropriate antonym for the word “deep” in the sentence.
Options:
shallow

MArTOW

steep



waving

Question Number : 70 Question Id
Display Question Number : Yes

: 69817710881 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct option to complete the sentence.

As part of the exercise, the country deployed its sophisticated of

ships.

Options :

novel; fleet

naval: column

naval: crew
3. %

naval: fleet

Question Number : 71 Question Id
Display Question Number : Yes

: 69817710882 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the INCORRECTLY spelt word from the given options.

Options :

1. ¢ meadoes
tomatoes
=

torpedoes

4 % Volcanoes

Question Number : 72 Question Id

: 69817710883 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the correct option to complete the given sentence.
A: “T'1l wait for you”, said the father to his daughter.
B: The father told his daughter

Options :

whether he would wait for her.
1. ®

that he would wait for her.
2.

that I would wait for you.

4. % if he would wait for her.

Question Number : 73 Question Id : 69817710884 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correctly punctuated sentence.
Options:
The tourist exclaimed. “What a beautiful scene 1t 157"

) The tourist exclaimed. “What a beautiful scene 1t 1s!”

The tourist exclaimed. “what a beautiful scene 1t 1s!™

The tourist exclaimed. “What a beautiful scene 1s 17"
4. %

Question Number : 74 Question Id : 69817710885 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following 1s grammatically INCORRECT?



Options :

| The weather of Hyderabad 1s better than Delha.

The weather of Hyderabad 1s better than the weather of Delh.

2.

3 % The weather of Hyderabad 1s better than that of Delhi.
Hyderabad’s weather 1s better than Delhi’s.

4. %

Question Number : 75 Question Id : 69817710886 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct option with regards to the following sentences.
Sentence A: Prof. Arun Kumar 1s teaching here since 2004.

Sentence B: Prof. Arun Kumar is teaching here for the last twenty years.

Options :

Only Sentence (A) 1s correct.

Only Sentence (B) 1s correct.
2. ®

Both the Sentences (A) and (B) are correct.

4 Both the Sentences (A) and (B) are not correct,

Question Number : 76 Question Id : 69817710887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
What 1s the grammatically correct sentence when the voice of the following sentence
15 changed?

A movie was being watched by me when you called me.

Options:
1.4



I was watching a movie when you called me.

I watched a movie when you called me.

I am watching a movie when you called me.

I had been watching a movie when you called me.

Math Content

SectionId: 698177260
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 18
Number of Questions to be attempted : 18

Section Marks : 9
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177361
Question Shuffling Allowed : Yes

Question Number : 77 Question Id : 69817710888 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Roja walks l;m in 2 seconds. The distance (in m) walked by her in 10 minutes

with the same speed 13
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Question Number : 78 Question Id : 69817710889 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The cost of 1 dozen pens 1s T 36. Then, the cost of 54 pens 1s
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7162

T172

T142

Question Number : 79 Question Id : 69817710890 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Number of prime numbers between numbers 90 and 120 1s
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Question Number : 80 Question Id : 69817710891 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
IfA=4x>+ 2y —6xy : B=6x* + 4y% + 6xy: C = —4y* + 4xy — 2x% then
A1) =
A=4x%+ 2y% —6xy : B=6x*+ 4y% + 6xy; C = —4y® + 4xy — 2x% ®ond,
T

Options :

—4x? — 6y% — 8xy
1.¢

2x% + 2v% + 4xy

2. %

—4x% + 6y —6xy
3. %
4 % 4x? — 2y? + 4xy

Question Number : 81 Question Id : 69817710892 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Construction of a unique triangle 1s NOT possible with which of the following?

Bol§ 5l ars°, BOE° 238 Behe Jo° 0 AEHE?

Options :

when lengths of 3sides are given

3 ghere Bleden 38030

1. %
when length of a side and 2 angles are given
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2. % -

3.¢



when length of 2 sides and included angle 1s given
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Question Number : 82 Question Id : 69817710893 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The LCM of x2y3z! and x3y%zlis

x2y3z! $8cin x3y?z! o K000,

Options:

ylydgl
1% °

xayazl
2.9

- xz},zz1

x2yzl

Question Number : 83 Question Id : 69817710894 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The volume of a cylinder iz 3251 cm? and its base radius is Scm. Then, length

of its height (in cm ) 1s
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Question Number : 84 Question Id : 69817710895 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
Which of the following letter does NOT have any line of symmetry?

5 B 8e?
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1. %
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2. ¥
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3. %

4, %
Question Number : 85 Question Id : 69817710896 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
In an i1sosceles triangle, if one of the base angle 1z 55° then its apex angle is
) BPTN o
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Question Number : 86 Question Id : 69817710897 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The valueof (a—b)(a+b)+(b—c)(b+c)+(c—a)(c+a)is

(a—b)(a+b)+(b—c)(b+c)+(c—a)(c+a)Bws Dend

Options :

1. % :

-

. ] |
a“+ b+ ¢*

2abc

Question Number : 87 Question Id : 69817710898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The smallest number by which 3400 1s to be divided, so that the quotient become
a perfect cube 1z
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Question Number : 88 Question Id : 69817710899 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The median of data 4, 1, 2. 0, 3, 3.

6
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Question Number : 89 Question Id : 69817710900 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The mean of last five two digit whole numbers 1s

Options :

w96

Question Number : 90 Question Id : 69817710901 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If a stationery kit is sold for ¥250 with a gain of 750, then the gain percent is
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Question Number : 91 Question Id : 69817710902 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If; =1 - %and 2x + 3.5y = 100, then the value of y is
E: 1 iaﬂ:ﬁdﬁ:z 2x + 3.5y = 100 @ong, ¥ Dend

Question Number : 92 Question Id : 69817710903 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The area (in sq.cm) of a rhombus with diagonals of lengths 9.8 emand 8.2 em s

Hrmpy D oo 2 B oA, Qg 2 - #8)
JG[S""FJ SPGayen 98 0.0 $08din 8.2 Do.dh 5Of
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, % 80.36

40.18
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20.09

Question Number : 93 Question Id : 69817710904 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The height (in em) of a cuboid whose volume 13 375 em? and bage area is 15 enr?
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Options :
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Question Number : 94 Question Id : 69817710905 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A histogram consists of
R Tge Do (SREro) DE SDA Gotnod?
Options :
circles
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Science Content

Section Id : 698177261
Section Number: 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 18
Number of Questions to be attempted : 18
Section Marks : 9
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177362
Question Shuffling Allowed : Yes

Question Number : 95 Question Id : 69817710906 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The distance travelled by a ship per hour is measured by Knots. 1 Knot is

equal to
8. Kot Rairdod Kroed) w8 eorrd. 1 ards HDS Kérso
Options:

1.852 km/h

in
ben

52 8.8n./fo

(s

1 ¢ 1.



1.852 m /s
3 % 1852 Do fa

1852 m /=

18.52 & /™
4. %

Question Number : 96 Question Id : 69817710907 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Read the fnllm';-'ing statements and choose the correct answer
€ob ar , o) 3568 r:la -r\,mjtmﬁ:'m N cuO?.JJ%-EF)m
Statement I :  Temperature, rainfall. wind speed. humidity are some of the

measuring components of weather.

g I ;65PN étﬁo‘“@o ™9 o, B 5o PEberd) BOF 5
BOT e,
Statement II :  Mercury 1s used to measure the temperature in Six

maximum - minimum thermometer.

g 11 : BE) ﬁﬁaé - 505 Bo7y 06 & meﬁli“vﬁ‘“ Eonirad ardtio
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Options :
Statement I 15 true and Statement IT 1s false

aesse I 3380 80Bdim ampps 11 e0idésso
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1. %
Statement II 1z true and Statement I 1s falze
aeces I Sé8ro 308w amey; I edidco
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Both Statement I and Statement IT are true

secay I 308cim amggy 11 Golie &0

ate

Both Statement I and Statement II are false

aezm; I 2080w ey 11 ot @0
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Question Number : 97 Question Id : 69817710908 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A sound 100 times more powerful than that of total silence 1s

28 A0 Soél 100 Bex %

B ‘.::l-h
T S o) Of8o e {:J o
o —_

Options :

% 0dB

20dB
o
50 dB

100 dB

Question Number : 98 Question Id : 69817710909 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If two forces Fy=15 N and F»=10 N act on a table in opposite directions, then
Fn&t =

F;=15 N %80dm F7=10 N &3 8ot oeren 2.5 Bend 3 ;608 BEed” DTN, Fpet =

Options :
1 % 25N
5N
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Question Number : 99 Question Id : 69817710910 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
To make the magnetic compass, we use the following property
0D, 08 BERDD S0t IEHTeDS, Sobdsin & Bod Hordy SHATAIR D
Options :
Attraction property

e8des $00

Repulsion property

AEtel Haleple

L-l '.'

Directional property

g f‘J‘Zle':L
3. ¢

Do not use any property

4 % ad 1'::'1:'-' J &n0irAodain

Question Number : 100 Question Id : 69817710911 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

While connecting an LED in a circuit. the longer lead should always be
connected to

£ o s ) g e oAl s Eo@ o gy
2.8 Heodhos” LED O pé'irﬁ@t:m'\,ﬂ" i u: h '3\# y0ad, &) ,.,-: e a_tb ﬂz%l..h.::' 658 Begrd

Options :



Positive terminal of battery only

&b EwEy 58 SFras SrEad
1.4
Negative terminal of battery only
ewsaB ) ames HyEeds SrE
2. %
either Positive terminal of battery or Negative terminal of the battery
i s hy - i F':
erstod G 58 8,708 T errtad Gy ames A8 BAET
3. %
neither Positive terminal of battery nor Negative terminal of the battery
"'w":';'“"ﬁ 31} E; L‘zé éf‘,c_-j:'c_?é Soih, Swoes O c-.J Q8 L oD
4, ®

Question Number : 101 Question Id : 69817710912 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The colour of the shadow of an object 15

£ el - 5y . P -
B_.?-J{ E ':'55.4__1} Cl_:l\_.l\jél '?u:h ':?_i_-_-g% ':j':'h

Options:
Whaite

1, % S

Black

Colourless

The colour of that object

e3 35:0a) Gins; Bod



Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 102 Question Id : 69817710913 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Read the following statements and choose the correct answer

TR Al R
Eob 55., 200 D6 n.BEé el "':{1 w008 of

Statement I :  All neutral solutions are not salt solutions.
v | By B0 PHeren ois PP 5.
Statement II:  The acids present m plants and animals are called as

natural acids.

arcge 11 ;. do¥en
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Options :

Statement I 18 true and Statement IT 15 false
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Statement II 18 true and Statement I 1= false
coe ) II % ’D ".J_.F‘l:t‘uj ot :-,_' I t—m.. _:r ':'
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Both Statement I and Statement II are true
arcepr 1 08050 amcpe I Bolir Hé:c
3.¢
Both statement I and Statement II are false
seser I 28aim ampyy 11 Colir edé:o
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Question Number : 103 Question Id : 69817710914 Question Type :

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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MCQ Option Shuffling : Yes



Which of the following methods can be used to separate a solid that is dissolved

1n water from water?

By A A 8
h; o E q.uc\_‘o iepH J ?'L ol n_lD.z ta(j?\:lre c% C: £ U.J-?J

Q

Hivs® gon

o

ENEPROESS)?
A)  Filtration

M
L]

2r
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L8
[=x]

%

e
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B)  Decantation
86)%r) Hono

C)  Distillation
Bsiibo

D)  Crystallization
58880

Choose the correct answer:

'1:6 eJolT® TT:\__T:'PJ“ mJng"Df'

Options:

A & B only

A & BirmEa
1. %

B & Conly
> % B& 1-““.@!1:-.4_,

C & D only

C & D srEah
3.¢

A & D only

A& DirEs

Question Number : 104 Question Id : 69817710915 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the INCORRECT pair

2050 238 rhbodol.

Options :

Yeast — Bacteria

1.+ F

$er — PEFERE
2.% 7
Daphnia — Microarthropod
anoir — S8 @E0eRE
3. % -
Diatom — alga
Ediréo — 50
4, ® -

Question Number : 105 Question Id : 69817710916 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the total number of molars in a normal adult human. having ‘32’
teeth.

b . ™ s e 5 2 @y R T R Y S Lol 'y T
32 Homrel® & el Frifardnad” 6ot dndo “Himsre’ §80 Ho@en a
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Options :
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6
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3. % §
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Question Number : 106 Question Id : 69817710917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the insectivorous plants from the following.
808 S SeisiEd B e HBoBol.
A) Rafflesia
SS&ate
B) Dirosera
ot olen

C) Utricularia

D) Nepenthes
Jaodn
E) Cuscuta

F) Passiflora
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ChGDSE‘ the correct answer:
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Options :
A.D& F only
A, D & F sr@sh

B.E& Fonly
B.E& F irEs

A, C& E only

- A C&EsmEsd

4.



B.Cé& D only
B.C& DsirEs

Question Number : 107 Question Id : 69817710918 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the root modification from the following.

Options:

Garlic

= e Y
olielt
g

Turmeric

ol a
ododdol)

Sweet Potato

Question Number : 108 Question Id : 69817710919 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the plant with unisexual flowers.
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Options :

Ipomoea



Cucumber
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o

Hibiscus
aboiPy

3. %

Datura
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Question Number : 109 Question Id : 69817710920 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Rearing of honeybees 1s called as
a3 DodsRy ser DB 0T,

Options :

Apiculture

o2y Benb
1.4

Vermicultrue

E Ay
n

3 506

Silviculture

58 Beyn5
Do T
Sericulture
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Question Number : 110 Question Id : 69817710921 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correct pairs

208 a3 (DBobok.

A) Jan Ingenh{}uz — Role of sunlight in photosynthesis
erd Soal 178 — 88mesd; HodrK BohS® drdrod ary
B) Stephen Hales — Transpiration through leaves

L3R IS — HEFre T gRER @50
C} Prof. J. K. Kurian — Father of white revolution

= - T o T-
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D) Dr. Edward Jenner — Discovered oral polio vaccine
[ c\“_, 5 B ﬁ"i‘ ohiL f::égf.; swoltond EPJ_JF‘T_T‘.'}-H

Options :
A & Bonly
A & B srgsd

C & D only
C & D simEah

AB&C only
3 v A B&Cimgd

4w ABC&D

Question Number : 111 Question Id : 69817710922 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the pollutants which cause acid rains

)

B STrobh Onhi; e ETe Hlodos.

Options :

Carbon oxides, Nitrogen oxides
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Sulphur oxides. Nitrogen oxides
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CFC, carbon oxides

3 % CFC. E“CSME E:"Elgr';E 20

CFC & PAN
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Question Number : 112 Question Id : 69817710923 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Triple antigen vaccine does NOT provide immunity against the following
disease.

)& dirofiel S & mH8 H:8050m 55085 ¥52 woboilth.
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1.4

Diphtheria

Pertussis

Tetanus
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Social Content
SectionId : 698177262



Section Number : 7

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 18
Number of Questions to be attempted : 18

Section Marks : 9
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177363
Question Shuffling Allowed : Yes

Question Number : 113 Question Id : 69817710924 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This Vijayanagara king has built the famous temple entrances such as
Ekambeshwara temple ‘Rayagopuram’ in his honour with the wealth obtained

from the victorious wars
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Options :

Har Hara Rayalu

_ aeBsrSTechen

1. %
Saluva Narasimha Rayvalu
Jrens HBhosFTrahen

2. %
Sri Krishna Devarayalu
8 5yn Oordhes

3.¥

L3

Question Number : 114 Question Id : 69817710925 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
These forests are also called as the “Taiga Forests™

o TN AR bk oyl T 42
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Options :
Coniferous forests

e - o
F10IP5e0s) @Esagen

1.¢
The Tropical Evergreen Forests
ﬁ@.&i‘oif& oEHE o068 wiisyen
2. %
The Temperate Deciduous Forests
$5088°% edHoeE) odHen
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3. %
The Mediterranean Vegetation
4% Shinlyntedat-talersla]

Question Number : 115 Question Id : 69817710926 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One among the following is an example of ‘Intermediate good’
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Options :

Car
SRte
1. %
Paddy
5B
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Television

DOD=S
Medicines
4 % Hothen

Question Number : 116 Question Id : 69817710927 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The titles like Muvendavelan and Aralyar were given by these rulers to some
rich landlords as markers of respect and entrusted them with important offices
of the state at the centre
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Options:
Vijayanagara rulers
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Kakativa rulers
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Pallava Kings
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Chola Kings
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Question Number : 117 Question Id : 69817710928 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Kanchenjunga. one of the highest mountain peak in the world, is in

-3
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Options :

Jammu & Kazhmir
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1. %
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Arunachal Pradesh
PSS PGS
3. % .
Siklkim
o850
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Question Number : 118 Question Id : 69817710929 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Tropical Deserts are located on this part of the continents
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Options:

Southern part of the continents
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Eastern part of the continents
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Western part of the continents
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Northern part of the continents

Question Number : 119 Question Id : 69817710930 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The constitution of India was prepared and adopted by the

O80E Treriored SrsPodod), 8arfotd

Options :

The members of Constitution Drafting Committee

oresoii slnaronte 08 Hahen

1. % )
The Constituent Assembly

” oraroiicgd

2. % i
The members of the Indian National Congress
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3 x J A R
The rulers of the Princely States

4 % D88 Tree sreen

Question Number : 120 Question Id : 69817710931 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
At District level, these courts exercise their jurisdiction regarding the ecriminal
cases
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Options :

Asst. Session’s Judge Court
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Sessipon’s court
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High Court
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Question Number : 121 Question Id : 69817710932 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

On 15tk April, 1951, Vinobha Bhave started this movement
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Options :
Zionist Movement
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Vandemataram Movement
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Telangana Liberation Movement
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Bhoodan Movement
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Question Number : 122 Question Id : 69817710933 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
The father of Dutch Cartography was
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Options :
Gerardus Mercator
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James Rennel

Question Number : 123 Question Id : 69817710934 Question Type

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Thizs has been described as “Boom and Bust”
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Options :

The way of dressing by the Eskimos
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The method of agriculture practiced by Eskimos
- sleparen ardon HRrdD HRED

: MCQ Option Shuffling : Yes

The pattern of relationship between the Eskimos and outsiders
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The way of hunting and fishing by the Eskimos

Question Number : 124 Question Id : 69817710935 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Among the following, identify the INCORRECT statement regarding the

Troposphere
808 BE° 1P wddnd Sonodod) $65 I Bosol
Options :

This layer is the lower most layer of the atmosphere

- & £P8 aP@rtnostd eEos BID5S 65 SPS
The entire weather phenomena happen in this layer only
eEedes Oyfsdiren dndo & POS° Sip@Eah ehrbEron

2. % ! o —b -
The important feature of this layer 1s that it contains ozone layer
LER TS SR sodtio & P8 GnEy Swer@id oS0

3.¢¥ .
The temperature in this layer decreases as we go higher
& PBS” shdo P8 3F B8 6518 Sihdod
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Question Number : 125 Question Id : 69817710936 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Among the following, these are widely used for making payments and
recelving Mmoney
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Bonds=

L:&oc“’ﬁ
1. %
Cheques
T80
2.9 a
Demand Drafts
&5irok mhen
%] ] 2 %J =i
3. %
Land Title Book
4 % =30 Eﬁ@f 280

Question Number : 126 Question Id : 69817710937 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In the last phase of Indian National Movement. Charka has been adopted as a
aymbol of swadeshi by
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o & s ¢ oL Grad 3 o i S J‘"é & g wn o« g
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Options :
Bala Gangadhar Tilak

- ere Nomrdd 85
Subash Chandra Boze

Mahatma Gandhi
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Dr. B.R. Ambedkar
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Question Number : 127 Question Id : 69817710938 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

On §th Aug, 1942, the Congress Working Committee met at this place and passed

a resolution stating elearly that “British rule in India must end immediately™
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Options :
Surat

1 3 'L7-§E
Delhi
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Bombay
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Question Number : 128 Question Id : 69817710939 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Among the following, the words included to the preamble of the Indian

Constitution as per the 42°d amendment of the Indian Constitution

Options :
Socialist. Secular and Integrity
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Socialiat, Secular and Unity
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Socialist, Unity and Integrity
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Question Number : 129 Question Id : 69817710940 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘The Mahatma Gandhi National Rural Employment Guarantee Act’ was

passed 1n the year
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Question Number : 130 Question Id : 69817710941 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Among the phases of Disaster management, Rehabilitation and Reconstruction
meagures include
D5& A B, Hhmarto B D8 m SSod Hbood
A)  Construction of houses, roads and bridges
809, Bt H0Bcn Hodde Joemo
B)  Restoration of Power and communication
556 B ErRERS DB ea
C)  Restoration of Transport facilities
Sare L G0
D) Provision of food, clothing, shelter and medicine to the affected

ePOReD 8Fdo, thiden, sEcho $H8cM Hothesd woboito

ChODSE the correct anawer

RO DETTPRRA, wothElok

Options :
AB&C only
A Bé& Cimgad

1.4

B, C &D only
5 % B.C&D 5;:’-*@3::-

A, C & Donly

A, C & Dirgsd
3. %

A, B& Donly
4% A, B& D@

Telugu Methodology

Section Id : 698177263
Section Number : 8

Section type : Online



Mandatory or Optional : Mandatory
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :

- O W o o

Sub-Section Number :
Sub-Section Id : 698177364
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 69817710942 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 132 Question Id : 69817710943 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 133 Question Id : 69817710944 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 134 Question Id : 69817710945 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 135 Question Id : 69817710946 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 136 Question Id
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

o
ul

% = Pyl
oldod odEdod

1. %
a - .-_ﬁ--ﬁ i

ez itoe) o O5en
2. %

Ol nren
3.9

(e b5en
4. % -

: 69817710947 Question Type : MCQ Option Shuffling : Yes

English Methodology

Section Id : 698177264
Section Number : 9

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 3



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 698177365
Question Shuffling Allowed : Yes

Question Number : 137 Question Id : 69817710948 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Phoneme means

Options :

the stressed unit in the sound system of a language.
1. %

the largest unit in the sound system of a language.
2. %

the longest unit i the sound system of a language.

the smallest unit in the sound system of a language.
4.

Question Number : 138 Question Id : 69817710949 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Language has the ability to repeat an 1dea without using same words and sentences.”

Identify this characteristic feature of the language.
Options :

Language transmits culture.
1. %

Language exhibits displacement.
2. %

Language exhibits redundancy.

Language exhibits duality of structure.



Question Number : 139 Question Id : 69817710950 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the classroom speaking activities.
A) Role play

B) Group discussion
) Debate
D) Story telling

Choose the correct answer

Options :
AB.C&D
1.4

OnlyAAB&C
2. ®

3 % OnlyA.B&D

4 % OnlyB.C &D

Question Number : 140 Question Id : 69817710951 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Evaluation of learners’ performance should be done at the end of every term. This 1s

known as
Options :

Formative Evaluation.

Process Evaluation.

Impact Evaluation.

Summative Evaluation.
4, &



Question Number : 141 Question Id : 69817710952 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the audio-visual aid.

Options :

1 % Radio

Television

3. % Models

@ News paper

Question Number : 142 Question Id : 69817710953 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Read the following
Statement A:  Aural means ‘relating to your ears and your sense of hearing’.
Statement B:  Oral means ‘relating to your mouth and describes things that involve
speaking rather than writing’.
Choose the correct option.
Options :

Only the Statement A is true.
1. %

Both the Statements A and B are false.

Both the Statements A and B are true.

Only the Statement B 1s true.
4, ®

Math Methodology



SectionId : 698177265

Section Number : 10

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 3
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177366
Question Shuffling Allowed : Yes

Question Number : 143 Question Id : 69817710954 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Read the following pairs related to validation processes in proving
mathematical statements,
K8 Hdsre DErsns’ Srirdstn HEahos Sonobodd Bob ated SBHok.

A)  Using that “2 15 an even prime number” as a counterexample to disprove

that “all prime numbers are odd™: Informal Proof

5T R i i
G oty B et e e TV i . R S < WY S R 1
'L-_:,{:;co‘_"_- c O D)y e NGE!..C’-"_JJ &l Peded POLOWTEPes "L 0 I_:«.IEJCR- P:'OE!.;__I &l
s Al o T TV Y LA W B N I

s&@.‘ﬁncfn'.\jﬁa :u=-36LE?'3. wdheE e

B) A student who knows that “there are infinitely many numbers between
0 and 1" hypothesises that “there are also infimitely many numbers
between 1 and 2": Intuitive Proof
0% Hogsenotron” ed HB%nE Dobio: wodsyH Jdraes

C) By observing the figure related to the proof of Pythagoras theorem,
student states that “a + b2 = ¢2": Formal Proof
D8, OIS Brpod A SonoBold Hrd) 566900 “a? + b = o
&) Beyn: AdDE AdEe

Chooze the correct pair/s:
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W I TNy T
205 2388 /o) JohBod:

Options :
1.4



A & B only
A & B irsd

B & C Glﬂ}'

5 % B & C sipgad
A&C only

3 % A & C srgad

AB&C

4. %

Question Number : 144 Question Id : 69817710955 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student “ecan tell difference between rational numbers and fractions”. Then,

the academic standard attained by the student 1s:

PRy - N S £ wk S v .E s sl oo = L T T ) a ool
5 g8 /) &88:0D doggen, Hme 8 fo dored Iaiietd /th”. vond, &

o
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Options:
Problem solving

e -
Sdoaer PSS

1. % E
Connection

5> % SrD0TPm0
Communication

g

o
o ‘.:oilémf'}{i'

Reaszoning and proof

R 1Y oy at et R
S0een Baptio — AirEeen JoDEo

4.



Question Number : 145 Question Id : 69817710956 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the most suitable situations in which the inductive method 15 used

among the following.

- =] *5 Fadwf ad ad O Oy i o B o L [ . T ¥ s g
Sob O sidd DS &ArACEEAS 50 ©dd Hotioeyeid ook,
; B R .

A) Deriving formulae
SrEred asmboiito

B) Making rules

C) When there is significance to use the formula in problem solving

Ko PBEE® Er@Ed) GHEPACSTRIS TPTPKE S0
D) When there is no significance for how a formula or rule is derived

S g o EY ik [ R S e U .f:': o -5 o j" T
m.s”!‘_f_‘!ﬂ S AdDano o o ﬁ@;.é&_ﬁ.;@.u:_-’:?hm s i@"’@""r‘l‘_@ eiadadlal

ChUGSB the correct answer:

)
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e g O | i :

200 PPy slothS ok
p=S

Options :

A & B only
v A & Birga
C & D only
C & Dirsad

A, C& Donly

Question Number : 146 Question Id : 69817710957 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Read the following statements related with learning resources in teaching
mathematics.

K S08E° weds $5%ed SonoBods Eob arrgresn 8506,

Statement-I : Mathematies library i1s useful for studying the topic taught in

the classroom as many times as possible and to do revision.

I | . 8558 68 3R woard) ABRY TG SHHT, AN Hike e
FOBEI8 KB & (Hotredio taarintiaod.

Statement-II : Teaching some topics 15 very difficult. if there 13 mno

mathematics laboratory in school.

o | . FdTed’ 188 pariee d5f, £l vored ol o
et
10.
¢

Choose the correct answer:

&

o o oy £ o X

-:C"j?\[} NDJJ'E]'NDPJC‘ 2)OTIS Oa.
ol i

Options :
Both the statements are false.

% Botd sPiaen 85E0.

1.
Both the statements are true.
Colo aPAlren 8o,
2. -
Statement-I 1= true and Statement-I1 1z false.
E“,:,S:-,:—I ?5*3-_*;;} SBd%n aPrgr i | @é-é;f}.
3. %
Statement-I 1= false and Statement-II 1= true.
a1 edeo hB8aim ampg-1I S0,
4, % c

Question Number : 147 Question Id : 69817710958 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“Model Problem Solving” which 1z a step in the period plan prescribed by the

State Council of Educational Research and Training, the teacher does:

Ona) ey HBE 0N 35 ?505;3 Fe0ods 58658 SetostD 0. $FrBo mand “Sres
Ha0de PR S sarprdintd DdnHs

-

Options:

The teacher himself solves another problem similar to the problem

solved on the blackboard.

dooed FBoHELS & 2508y erofd 878 DN sarTey GNE J-dhore

e ?PE‘
1. % -

Aslks the children to look at and copy a solved model problem in the

textbools.

et aj}‘iuéom FHoPaER SrH8 S S sPh DDA hee Benertd.
2. %

Gives a model problem as homework and asks the children to solve 1t

and come.

rv,, P wh o ry e oy L ey e E:-. "’:'\ e £

a5 ol 55 n'_'lu}.-_.v:\_,"n_l:l SOLS adedIP a:;',?.,.,l_u. TiPeded EF'&)C' 05 'i‘j‘:‘:-__'l:?l = u:>u By SDenaEria.

3. %

Writes another problem similar to the problem solved on the blackboard
and malkes the children to solve it individually in their notebooks.
e2E '°_a ja'%@n.u_an_-.% w{‘:-__'ll'ln_" ’UTO'E'..,{_:I B8 éé);ﬁ;&' i - n,":' o8 o8 & D

. o
Jdsred” &indorr T&gn,ﬁm .

Question Number : 148 Question Id : 69817710959 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the following types of evaluation with their purpose.

Bob sorerio8 Useend ard) éc'tir‘fﬂog 23880008,

Type of evaluation
Sarer; ol S0

A} Formative evaluation

A0 )8 SrPerro8Ro

B) Summative evaluation

RolfisPePd)8 sureroso

C) Diagnostic evaluation

é’gmmt}“tﬁm sireroiio

D) Prognostic evaluation

KBS sareri0ddo

ChGDSB t-h& correct answer:
8% HPraEd) JoiHstod:
Options :
A-1m1, B-1, C-1v. D-n

1. %

A-n, B-m, C-1, D-1v
2. %

A-1ii, B-iv, C-11, D
3.v¥

4. %

i)

i)

)

Purpose
ﬂééﬁﬂ
[=]
Assessing mathematics skills and
predicting in which field a student can

excel n future.

K8 Beyeron godae 38 Do B iy LIGH
2 otiod® Treodnied Bydo.

Knowing which concepts are lacking in a
student for doing addition m fractions.
e Hofeio FOHTD8 Hlagl 665& o EPSHen

55 BendnBisio.

.E‘_:'n

Assessing the learning progress of
students while teaching addition in

fractions.

Knowing the progress of students in
mathematics at the end of a year.
2.8 dodédo 8ol fHddod” e 1688

e Eido.



A-1v, B-11, C-1, D-1n

Science Methodology

Section Id : 698177266
Section Number : 11

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 3
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177367
Question Shuffling Allowed : Yes

Question Number : 149 Question Id : 69817710960 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following are NOT the characteristics of Scientist?

208 eeiest “5_,,395% eSeren S9N

A) having open mindedness
Daee 85 80 DA eodtio

B)  not being skeptical
HodahEdh DA GoXs hsKe

C) having scientific attitude
FHADH F9B EDA eodo

D) having no preservance

e .
-:GQE EAEVILTALINERY

Options:
A & B only
A & B smi@ah

1. %



B & Conly
5 % B & C drgad
B & D only
- B & D srgad
A &: C Glll;'
A& C 53?{‘5432-
%

Question Number : 150 Question Id : 69817710961 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the followiug

g@h 'J"Pa,- “""-':3-0 i:'

Age Piaget cognitive state
sad) SUrE Sopard S &€
A) 0-2 years i) Concrete operational
0-2 Hodd& oren 38 pareld
B) 2-7years i) Sensory motor
2-7 HodE oren BoBAD Tres
C) 7-12 years 1i1) Preoperational
7-12 Jos& oren IO e
D) 12 years and above iv) Formal operational
2 HodEoren, @3 @rd pored

C]lGDSE‘ the correct answer.

‘mj;\q’} Sa ngd m@twgbcl&

Options:
_— A—-1B—-uC—-mD-1v

A—1unB-—1,C—-iv,D—i
2. %



A—-ivB—1,C—nD-—m

A-1nB-mC-1D-1w
4.

Question Number : 151 Question Id : 69817710962 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Among the following, Audio visual lessons are broadcasted in Telangana state

through this channel
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Options :
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Question Number : 152 Question Id : 69817710963 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Who introduced heuristic method?
SREDERE?

™
= TR v - W N
o = . ’ 1 af p
L:"':r\,&c_.‘i-:- cdldede) oloadd o) 2]
& w B2

Options :
1. %



Kilpatrik

L =
g\‘:_r RIS

H.E. Armstrong
H.E.sb ol

2.
John Dewey
s Ereoue

3. % B
Piaget

4% adira

Question Number : 153 Question Id : 69817710964 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following 1s an examp]e of “taking the school into the community™.

= Fa e o oh it
“ 4 : 4% . o
ST falTPER0ETS d9n _.,C.E“O 21, éﬁ,.,_l P &rraTles

Options :

Visiting fields in villages

e SPeromD HotBotto
1.¢¥

Parent teacher meetings
5 % SaPRoDh EDSohe Daraaren

Establishing science clubs

= = “. L s
2y B TR D Jchito



Question Number : 154 Question Id : 69817710965 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In this survey method, the survey 1z conducted at fixed time intervals.

&3 30 e 36; 235 DeN 06,

Y
T
=8 00 allleden™,

Gl

F'f\

i"é oo

a.cﬁ

Options :
Longitudinal survey

eroftoeGnd 536;_
1.4 £

Crozs zectipn survey

oo XS 58.
= ‘§ O

2. %

In both Longitudinal survey and Cross section survey

eroftTBad 556";_ oBdm 2R VER :’f,_; Sofotdd®
3. % ) ]

Kiozk survey

Sar) 50s
4, %

Social Methodology

Section Id : 698177267
Section Number : 12
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 3
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177368
Question Shuffling Allowed : Yes

Question Number : 155 Question Id : 69817710966 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following statement 1s NOT TRUE related to teaching principles
for achieving Environmental Studies [EVS) objectives mentioned in National

Curriculum Frame work (NCF)-2005?

B

2800 domy Herds Sgo (NCF)-2005 & Srdoselds H6d0e depdo oFmwd

.

]
FBohe% T 2 P ST iFEeh donobod £ Sob TEEnes” S0R0 A7

CJ 4

Options:
Knowledge of information and communication technology should be
utilised in teaching lessons

o . & o o =
0888 Sipard $bepad) (ICT) e 87655 &5@PA0TE.

1. %
Teacher should generate innovative activities with his creative thinking
and implement them in classroom.
BRI 89 Spard S astiis® irdg) Soed riPobod S5KaKAS
s5358608° 6P
2. % E
Subject of Environmental Studies must be taught in segregated way
rather than holistic way
atiore e &éo od) ) E:u DRdrd, dndore seHote A6 grrrenT 8o,
3.v¥
Teacher should follow various types of teaching methods to develop
process skills among children
dersthest HEKr BHeeed DosFobodhbhd M sarmrding S IFe
AT é@c‘_’w ) Be0dloird)
4. % )

Question Number : 156 Question Id : 69817710967 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The learning indicators ‘growing trees; have love and kindness towards animals
and birds’ are related to this academic standard.

e Ty e z T g e T Y e Y
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Options:
Experiments and field observation

L i i & at L R e
[pCORRen — S8 nbdeten

Information skills and project work

o Rt e e
o EFRCED, oPEESD) oded

-

4

sl .
SR LTs]

P2
a

Conceptual understanding

Appreciation and sensitivity

i et Ay
|l-_:a_."§C'm 7 m;-i“-@'iﬁ"‘_@

4. =

Question Number : 157 Question Id : 69817710968 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following statements are TRUE related to innate abilities?
E:’:Oﬁ’g@ i’%“fm;_lt,é:: Homohol) % Sob ¥ Snedt MR8 2a)?
A} Almost all children possess innate abilities right from birth
TPTPa) DRl w8 @oégé %i@;ﬁ:ﬂ éijl Botrh
B) To develop innate abilities in children, both teachers and parents have to
make collective effort
&gpjé“‘ @orﬁ&éé i’c.;;,t:l;_la Rotied 6"‘1@'3; Den, EDHo(tDen B"SJ::E: g0 26T
C) Innate abilities can be identified in the specific laboratory only
2.8 HEERS pariTed frEd o8P E““ém;ao hBoaath@Eron
Choose the correct answer:

W o = :
N0R SerPTPaRR) Jods 36Dok:

Options :

A&B only
1. J A @I B‘ -'_'l_l.—' FBC-.A_F

A&C only

A & C 5rdah
2. % ;

B & C Dlll:v
3. 5% B &. C 'ﬁ:u:l
4w AB&C

Question Number : 158 Question Id : 69817710969 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following 13 NOT an element of map reading skll.

" - L "y i — X z r-‘E.
2P, BB S Bohd & Sob ofsred” RPN 2867

Options :
Enowledge of use of scale

FS ;“3‘3: &NETRACD {%ﬁa-::
1. %



Knowledge of use of time

2800 BRGRAOT EPo

2. o
Knowledge of use of directions
FbE’L 5 &5EPACT ep ghTe!

3. %
Enowledge of use of indexes
ru_,"t,,gf:u:\.u FDJ:}JTﬁﬂtJ {‘?}HP

4. %

Question Number : 159 Question Id : 69817710970 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following statements s NOT TRUE related to activity based
approach?
£ @0 6505% Sonobod) & Bob iFnedt $65°08 287

Options:

Activity based approach 1s developed based on the principle of ‘learning

by doing’
Sr@vrd &0 ‘edits Te @do’ @i dr@o 8rdor SrErodod
faletla
1. %
The activities develop creativity in children
Sy@eren Heoedt Hjamrd SE DosrobiPon
2. %
Learning takes place through utilisation of all the sense organs
@efr00 and el """:'MD BOIren GaGrAodto oo asthib&od
3. %

Students fﬂrget as soon as they get first hand experiences

4 Bl c‘“ % @ingaren SPotitio Hed &0 sHblekarh.



Question Number : 160 Question Id : 69817710971 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“Write five questions that you would like to ask an archaeologist to know about

present excavations”. This question aimed at achieving this academic standard.

Options :

Appreciation and sensitivity

Ry _m, e,
o)

(00T Oed — SV O

Conceptual understanding

3.¢

Information skills and project work

= AT G- o7 L
oD rueﬁ' 20, |oJPE25D oded
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